
 
1 

83,836 + 28,586 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
2 

826.6 + 82.02 
 

                      

                      

                      

                
 

 

                 

                      

 

 
3 

 930, 000 +             +  900 + 30 + 2 = 932,932 
 

                      

                      

                      

                
 

 

                 

                      

 

 
4 

291 + 46.9 = 
 

                      

                      

                      

                
 

 

                 

                      

 



 
5 

83,957 – 1,927 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
6 

300,000 – 283,973 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
7 

93.8 – 38.92 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
8 

4 – 0.67 
 

                      

                      

                      

                
 

 

                 

                      

 



 
9 

20 x 0.7 
 

                      

                      

                      

                
 

 

                 

                      

 

 
10 

37 x 6 
 

                      

                      

                      

                
 

 

                 

                      

 

 
11 

185 x 49 
 

                      

                      

                      

                      

                      

                      

                      

                      

                
 

 

                 

                      

 

 



 
12 

42 ÷ 3 
 

                      

                      

                      

                
 

 

                 

                      

 

 
13 

 1361 ÷ 4 
 

                      

                      

                      

                
 

 

                 

                      

 

 
14 

4961 ÷ 41 
 

                      

                      

                      

                      

                      

                      

                      

                      

                
 

 

                 

                      

 



 
15 

10² = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
16 

3³ = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
17 

6² + 2² = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
18 

9² + 1³ 
 

                      

                      

                      

                
 

 

                 

                      

 



 
19 

4 x 21 ÷ 3= 
 

                      

                      

                      

                
 

 

                 

                      

 

 
20 

30 – 50 ÷ 5² = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
21 

 7 – 2 x 5 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
22 

20  ÷  ( 3² + 1 ) = 
 

                      

                      

                      

                
 

 

                 

                      

 



 
23 

750 x 10 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
24 

0.29 x 100 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
25 

 7530 ÷ 100 = 
 

                      

                      

                      

                
 

 

                 

                      

 

 
26 

84  ÷  1000 = 
 

                      

                      

                      

                
 

 

                 

                      

 


